

$$1) a^4 + 3a^3 - 9a^2 - 23a - 12$$

$$R(-1) = 1 - 3 - 9 + 23 - 12 = 0$$

$$\begin{array}{c|cccc|c} & 1 & 3 & -9 & -23 & -12 \\ \hline (-1) & & -1 & -2 & 11 & 12 \\ \hline & 1 & 2 & -11 & -12 & 0 \end{array}$$

+ 1
- 2
+ 3
- 4
+ 5
- 6
+ 7
- 8
+ 9
- 10
+ 11
- 12

$$(a+1)(a^3 + 2a^2 - 11a - 12)$$

$$R(-1) = (-1)^3 + 2(-1)^2 - 11(-1) - 12 =$$

$$= -1 + 2 + 11 - 12 = 0$$

$$\begin{array}{c|ccc|c} & 1 & 2 & -11 & -12 \\ \hline (-1) & & -1 & -1 & +12 \\ \hline & 1 & 1 & -12 & 0 \end{array}$$

$$(a+1)^2 (a^2 + a - 12) =$$

$$= (a+1)^2 (a-3)(a+4)$$

$$\begin{aligned}
 2) & (x^2 - y^2)(x - y) + 2(y - x)(x + y)^2 = \\
 & = (x - y)^2(x + y) - 2(x - y)(x + y)^2 = \\
 & = (x - y)(x + y)[(x - y) - 2(x + y)] = \\
 & = (x - y)(x + y)(x - y - 2x - 2y) = \\
 & = (x - y)(x + y)(-x - 3y) =
 \end{aligned}$$

$$\begin{aligned}
 3) & 2x^2(x - 2y)^3 - 4x^3(2y + x)^2 = \\
 & = 2x^2(x - 2y)^2(x - 2y - 2x) = \\
 & = 2x^2(x - 2y)^2(-x - 2y)
 \end{aligned}$$

H.C.F. e m.c.m.

$$x^2y + xy^2, x^2y^3 + xy^4, 2x + 2y$$

$$xy(x+y), xy^3(x+y), 2(x+y)$$

$$\text{H.C.F.} = x + y$$

$$\text{m.c.m.} = 2xy^3(x+y)$$